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1 Mwn: requirement of 0720V

a

b

712y ;1297 all require Do)
7 na7p. all require, except NoaY IWYN , M1 and DWRI NRON
i Exception: DwR) nRON of YyM¥N require 0’201

xn»a: v. 1 identifies obligation of msv) for n%,

a

b

Additions: nmbw (via nar) and nmn (via [nar] W)
i justification: inclusion of nTIn — even though it has its own 40 loaves (more than 20 of 7’n1->obviously included)
Exclusions: Dwr1 nRON ,Noa ;79N , M1 excluded, via N2 1R 971 RYaY; since none of these can be brought voluntarily
i Yet: we don’t exclude n7x®1 n%y and nnnw "YW — as D> 1YINI includes those brought as 530 Mamn
Exclusion: nkon »yw, even though they are %370 man, from v. 2 -9pa 12 was included above, singled out to teach
that just as 1pa 12 is something which can be brought nan 9m3, so with all — excluding nxon vyw
End of v2: excludes 90 n%y per mwr>
i vz qwin nYw is excluded via nar; end of v. 2 clarifies that v. 3 doesn’t require both 1pa and jxr¥
ii  Question: 1My "1 is of the opinion (in re oRy a8 n5%p) that listed items are always separate unless joined ("1
1 Answer: v.3 “IR¥0 1m” is tantamount to 1N’ and would require (if he said n%y *y »n) to bring both — Y"np
iii  Question: W’ "1 holds (ibid) that listed items are all required — he should require end of v. 2 to clarify v. 3
1 Answer: vv. 4 and 5 already clarify (at beginning of ®1p) that an n%p has options — 7pa or jrx
2 v 7 that would be true if he explicated, but 870 if he just said Ny *»» »n, would require both — 5"np
Analysis: no need for N9y, as N2 1M already set up parameters
i Defense: without 1y, we would have parsed v. 1 as 9531 v19) 953 and have included novay 7wWYm 7122 (not for rVN)
1 But now: with n%, we also exclude those, which are standing obligations
2 And: 5991 0191 993 serve to include WP MMnMm M9, N9y which comes from surplus, and owr which was
set to graze (but was slaughtered nno) and any 129 which was slaughtered 1nv% R5»
ii  Interpreting the numerous instances of W (vv. 1,2, 9, 12) and v. 6:
1 722728 772 K595 else, R"10 only liable if he brings both
(a) Note: 1mv 7 would interpret — if he brings nan 9m together — only required to bring 1 w01 - %"np
2 p>7ypa 8 R™70 only liable for 2 if he brings 971 n%y and nam "mYv (or inverse) — but if both are 97 or both
are Nam one would be sufficient (all 017 being one “unit” for nrav1) —5"np
3 nary 75w (v. 2): even if he brings 2 m%p or 2 mn5w — 1 97, 1 nam - both require 203
4 powIx 77 K595 (v. 2): ™D if he brings 4 m5y (or nnbw), 2 9T and 2 a3, only requires 2 = Y"np needs 4
5 a7 108 9727 10 (according to iwa’ 7): needed - even if he brings multiple offerings of one kind
(flock/herd) — needs multiple n’av)
6  ..790p2(v. 6): even if he brings multiple offerings at one time — each requires 0’503
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III Explication of end of Nwn — requirement of yM¥n to bring 0>>01 for his nkvn and owr
a  Source: v.7 sets 3 mnawy for 3 lambs brought by ynxn (1wy)
i Proposal: perhaps these are an independent obligatory nnin
1 Rejection: reference (v. 8) to nmanp implies that we’ve already been told about it
ii ~ Proposal: perhaps the flour comes without wine
1 Rejection: v. 9 alludes to all 3 offerings of the y11¥n — n%Y::n%Y; Nar:nROYN; R:DYVR
2 Question: why not infer both Dwry nron from nar? (as we did to teach that 9’1 1w can be burned under
NRON or DWR — from "Nar”)
(a) Answer: that is only when they function in parallel;
(b) However: for y11¥n, nwR is there to give him permit to partake of nw1p etc.; nkon to achieve N9
3 Question: why not interpret nar as including Dwx1 nron of 1m?
(a) Answer: end of v. 10 (re 7n) is interpreted as applying to 0’301 of N9 and MYV — not NrYN
(i) Proof: Y& (v. 11) was already implied; singled out to model — only 127121 9131 X270 — not NRYN
4 Question: why not infer n9v n%y from n%y (v. 9) — instead of ymxn Ny
(a) Answer (»a8): n1ov N5y is inferred from end of v. 9, per 11 ":
(i) w5 is n1vy nH (for mool)
(if) 7787 “11%” of nnna nwyn — which is unusual, as Y90 (#11) is more stringent than original (#10)
(b) Answer (¥37): only yn¥n requires 3 12> (it has 3 ni117p)
IV Continued exegesis of D’av1 nv1a -all on v. 12
a N5 extends to 13nR’s “private” ram brought on 2"nv (requires no01)
i Challenge: why not infer from o211
ii ~ Answer: that might only apply to M1y nnap
1 Challenge: why is this any different from nT5» n%y (1 nan)?
2 Answer: that has no set time; perhaps the set time exempts from 0’01 - 9"np
b 55 x extends to a ©3%a (lamb in its 13 month — not yet an 9’x)
i Note: this is only a valid extension according to 11y '3, who sees vI%a as sui generis
ii ~ But: according to 87971, who regards va%a as a pav, can’t be addressed in n1n (doesn’t address mpav)
1 Background: »:R n1a —if one brings a 0199, he offers %’ »3v1 and it doesn’t count as his nar
(a) ~79 722 he brings %R 301 on condition - if it is a w13, the rest are nam
TN w5 teaches that we don’t distinguish between young and old oxen — all have same n»v3
7NN 2°R5 8. teaches that we don’t distinguish between 2-year old and 3-year old rams (as we do from 1 to 2 years)
w23 w5 8. we don’t distinguish between female yearling and female who is two (as we do for males)
orrya iz we don’t distinguish between billy goat who is a yearling and a 2-year old (as we do with sheep/rams)
i Story: ®an tested his students by asking how much is brought with nm
it Answered (correctly!): from x:n ©9pw that there were four “seals” on the tokens purchased by n»avi-buyers:
1 »7x for all goats, female of the flock and male yearling sheep
2 7r for male sheep (rams) above 13 months
3 5w for all bovines
4 Ko for 3 w1 of the yxn
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